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QUESTION 1

Which three columns can be seen in the Application View of the Enterprise Security Profiler? (Choose three.) 

A. Service 

B. Src OS Name 

C. Src and Dest IPs 

D. Context 

E. Access Type 

Correct Answer: BCD 

 

QUESTION 2

Exhibit: 

Given the information in the exhibit 

What is the proper order when fine tuning a policy? 

A. d, a, b, c 

B. d, c, a, b 

C. d, a, c, b 

D. b, d, a, c 

Correct Answer: C 

 

QUESTION 3

You have an event in the Log Viewer you do not want to see. What should you do? 

A. right-click on the event, select Filter - This Value 

B. select the log entries you do not want to see and delete them 

C. right-click on that event, select Filter - Not this Value 
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D. create a custom Log Viewer view excluding that event 

Correct Answer: C 

 

QUESTION 4

You update your attack object database on Security Manager. What must you do before the new attack objects become
active on the IDP sensors? 

A. You install the updated security policy on the IDP sensor. 

B. No changes are required. 

C. You must restart the IDP sensor. 

D. You must restart the IDP processes on the IDP sensors. 

Correct Answer: A 

 

QUESTION 5

Exhibit: 

You work as an administrator at Certkiller .com. Study the exhibit carefully. In the exhibit, which SYN protector mode is
the IDP using? 

A. passive 

B. handshake 

C. relay 

D. protective 

Correct Answer: A 
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